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'SECTION - |
PHYSICS & CHEMISTRY

1. The voltage gain of an amplifier with 9%
negative feedback is 10. The voltage gain
without feedback will be
(A) 10 (8) 1.25

(€) 90 (D) 100

of cobalt in

N

The oxidation number
K[Co(CO);] is

(A) +3 (8) +1

© -3 © —1

3. Thevacant space in bec lattice cell is
(A) 26% (B) 48%

(€) 32% (D) 23%

« A planet moving along an elliptical orbit is
closest to the sun at a distance r, and
farthest away at a distance of r,.If v, and

v, are the linear velocities at these points

e - 1
Wys g v wraa g
9 % WUTEE YAHAT BM W U

anqefs ®1 dveear o 10 grar & | far
gfider & aeedl o I

(A) 10 (B) 1,25

(© 90 (P) 100

K[Co(cO),] ¥ @< (Co) @t
SfRAGOT G Bl

(A) 33 (8) +1

(c) iy (D) -1

bee wiTerd At A Rad w@re gar @
(A 26% (B) 48%

(€ 329 (b) 23%

o ¥ 9 6k U T8 qd AR Fa
d Pl g & LAaH g4 o, 9
afmad ¢ r, & T T | AT
fargell W W AT HEE oy, Ty,

. . Vi .
respectively, then the ratio of —is : vy
@ 2 @ T
v, g, 5 S ECIC]

A) T B 2
i © (r_z) (A T B (rs)\2

rs Iy r, (;:)
(] 2 p) T
( (E_) ( _2_ () 1‘1 2 (D) r_2

rz rl (g) I'l

Page: 2 - 334482




A thin rod of length L and mass M is bent at | ¢

its midpoint into two halves so that the
angle between them is 90°. The moment of

inertia of the bent rod about an axis passing
through the bending point and
perpendicular to the plane defined by the
two halves of the rod is

(&) ML? (8) ML’

6 24

© ML? © 2
— ML?

12 24

A boy standing at the top of a tower of 20 m
height drops a stone. Assuming
g 1om/52, the velocity with which it hits

the ground is
(A) Sm/s

(C) 20 m/s

(8) 10 m/s
(D) 40 m/s

An aeroplane is moving with 80 km/hr
speed in North-West direction, while air is
blowing at 60 km/hr in North-East direction.
What is the actual velocity of plane ?

(A) 40 km/hr (8) 20 km/hr

(©) 140 km/hr (D) 100 km/hr

Volume of H, gas occupied by its one gm

equivalent at STP is

|
g A oA areh o g9 g
A W % quda @ ohEds A8 B
L IRG HRCET | B -
(A ML? (8)  MI?
6 24
© M2 © 2
— — ML’
12 24

fog 97 A <HREAT 2

(A 5 AR (8) 10 AR
© 20 H.RA (D) 40 #H.R.
UH  garseiee go frfrgear =

STR-U¥gH faon d S W 7 T 9417 60
e der & a1 4 IIR-gd fawn # @
I T | IES B arafqe iy el

(A) 40 fH.#L/gver  (B) 20 f&.#H.gver

(©) 140 f&H/guer (©) 100 &4t gver

gegod N & AF® 99 36 W® TS
IH FAGAID BT AT BN

(A) 1.0 litre (B) 22.4 litre (W 1.0 L. ®) 22.4 <A1
(© 112 litre (D) 5.6 litre © n2 ) 5.6 «fl
The circuit is equivalent to gRuy Tge BT
f Y

X B
5 b NOR NAND ~ NOT

NOR NAND  NOT (A) AND gate (8) OR gate
(A) AND gate (B) OR gate (© NOR gate (®) NAND gate
() NOR gate (D) NAND gate

Page: 3 534482




10

"

12

13.

I1fa is the length of side of a cube, the
distance between the body centered atom
and one corner atom in the cube will be

(A 2 8) 3
3 2

© 3 o) 4
f. —3a
4 V3

In an uniform electric field one oil drop of
0.002 miligram mass and 6 electronic charge
is stable in air. What will be intensity of
electric field ?

(A) 2.04 x 10°N/C
(8 2.04 x 108 N/C
(© 2.04 x 10°N/C

(D) None of these

The oxidation state of Fein Fe;0,is
(A) 8 (B) +6

5
L= O o= D) 32

The IUPAC name of
CH; —C‘,H—CHz(IZ—CHO
CHy

(A) 2 - hydroxy - 4 - methylpent-3-en-5-
al

is
OH

(8) 2 - hydroxy - 3 - methylpent-2-en-5-
al

(€) 4 - hydroxy - 1 - methylpentanal

(D) 4 - hydroxy - 2 - methylpent-2-en-1-
al

10.

oy

1.

12

13.

@ §T RRE TS qe B aEE @
2w ¥ dE WA W E AW
e weary @ g0 Enfl

w 2 ® V3
/5 2
(c) E (D) —Z—l—a
40 V3
0.002 Michumd wawE  dlefl AT 6
TageHl & oMY W YA UF dd Bl 43

erEE dom & ¥ Rer dedt ® |
dea & @1 e gl

(A 2.04 x 10*°N/C
8 204 x 10° N/C

(© 2.04 x 10°N/C

(©) T | PIs &l
Fe,0, § Fer I SRAGIUT Srqel T
(A) 8 (B) 16
3
© +3 © 42

for &1 g AT A g
CH; —CIH-CH:CI—CHO
OH CH,

(A) 2 - ErESIT - 4 - IRA e - 3 -
39 - 5 - A

(B) 2 - EEQRT - 3 - WA Y€ - 2 -
39 - 5 - 3

© 4 - TN - 1 - WA Y=AA

(0) 4 - TEPRT - 2 - AT I< - 2 -
S -1-3d

( |
} i
i

Page: 4



16.

17.

18.

. The ratio of radius of gyration of a circular

disc to that of a circular ring, each of same
mass and radius, around their respective
axes is

W Vv2:1 ® V3: 2
© V2:+3 © 1:42

What is the maximum numbers of electrons
that can be associated with the following set
of quantum numbers ?

n=3,l=1andm=-1
(A) 6

€4

(8) 2
(D) 10
The number of carbon atoms per unit cell of

diamond is
(A) 6

(© 8

(8) 1

(D) 4

The number of water molecules is maximum
in

(A) 18 molecules of water

(8) 1.8 g of water

(C) 18 g of water (D) 18 moles of water

In measurement of radius of a sphere,
percentage error is 1%. What will be error in

15,

16.

17.

18.

TH e iR gim R, RFar
am?iﬁvﬁwwqﬁ%,%aﬁ
- I g ¥ A aRywur et &
CRuICED

W v2:1 ®  V3:+2

© Vz2:43 ®  1:v2
T @ n =3, |=1m=-1%&
Wy fras aftead gaae 8 Thd & 2
(A) 6 (8) 2

© 4 (D) 10

&R (Diamond) & ¥RI gfie A & Frd=
WRANRET B GE e

S AR P AMHaH TE ®
(A) o=t & 18 e H
(B) 1.8 T 9= H

© 18 I U=t § (D) 18 AT U=

TH T B B e A § aRkea 3R
1% BRt ¥ | 39& AT § Ffe el

volume of sphere ? (R) 3% (B) 1%
(A) 3% (B) 1% © 79 (D) 59
€ 7% (D) 5%
Page: 5 534482
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19.

21.

(A) k (8 1
-k
2
2 1
@ k (D) TS
. The first excitation potential of sodium is 2.1

(A) None of these B 6720 A
© 49324 (0) 5893 A
- The ground state energy of hydrogen atom

A person of mass 60 kg is inside a lift of mass
940 kg and presses the button on control
panel. The lift starts moving upwards with

an acceleration 1.0m/s> Ifg= 10 m/s?

the tension in the supporting cable is
(A) 1200 N (8) 8600 N

(C) 9680 N (D) 11000 N

Geometry of BF; is
(A) trihedral (8B) trigonal planar

(©) pentagonal (D) tetrahedral

If the equilibrium constant for
N:_,s(g) 2 Oz(g) T—‘ZNO(S) is k, then the

equilibrium constant for
1 1 .
ENZ(S) + ; 02(8) = NO(g) will be

volt. The maximum wavelength of emitted
light will be

is-13.6 eV. When its electron is in the first

19.

20.

21.

22.

23.

T%h 60 kg BT Afed 940 kg & forme #
o et & qeT BT 9T © |
forre SR @ ok 10437 F @

A TR IRR FRA 2 | AR} o @R
gzlom_/gz g, @ fore @ wEm

CICTICI I I G
(A) 1200 e+ (8) 8600 g1
(© 9680 g (D) 11000 g

BF, & SAIfdy WRe=n gl
(A Preaa
(B) THfyareR i
(©) geeiy (D) IJHADIY
afs Na(g + O2(g = 2NOgg EQl
g ReRid k ®, 99

E : BT AT
> N2@ +5 029 = NOg)

ReRie BRI
) K (B)

diee T | 39 WA gR1 IARTG TS
 <daq e enft
© 49324 @) 58934

excited state, its excitation energy is IAfg JTRT ¥ BRM ar TR IS
(A) zero (8) 3.4 eV 2 '
(©) 10.2 eV (D) 6.8 eV A) I () 3.4 gV
© 10.2 eV (D) 6.8 eV
Page: 6 534482
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24.

27.

A bomb of 25 kg mass moving with 10 m/s
velocity. Bomb explodes and divide into two
pieces of 15 kg and 10 kg. If big piece
becomes at rest then what will be the
velocity of small piece ?

(A) 10 m/sec (8) 15 m/sec

(€) 20 m/sec (D) 25 m/sec

Two nuclei have their mass numbers in the
ratio of 1 : 3. The ratio of their nuclei
densities would be

1 .
N ® 1:1
© 1:3 © 3: 1

Which of the following is diamagnetic ?
(A) He; (B) HF

(© H; () H,

For the valence electron in copper, the four
quantum numbers are

(A)
n=4l=—-1m=0,s= >

(B)
n=4l=0m=0,s= >

(©)
n=4[l=0m=+4+2,s =

(D)
n=4l=1m=+2,s=

N = N =

24,

25,

26.

27.

25 &I, &1 b 99 B el
AR A Iy S @ 8§, Bedx
¥ ge o & | ghS B

S R 10 fm & | Al
F AT I A B RS FT
(A) 10 HL.RY (8) 15 WA
(© 20 AR (D) 25 #LA.

n §
N ®  1:1
(c 1: 3 (D) Rastel

= 4 ¥ o9 RAyw-deag 8 2

(A He; 8  H}

© H; ®  H,

A4 (Cu) & TANG gATEE B AR

g g Bt
(A)
n=4[l=—-1m=0,s=

(8)
n=41l=0m=0s= E

()
n=4I[l=0m=+4+2,s=

(D)
n=4[l=1m=+42,s=

N = N =

{

|

Page: 7
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28 The rate equation for a reaction A —» Ris
r = K[A]°. If the initial concentration of ‘A’

is@ mol dm 3, the half-life period of the

reaction is

w 2 ® K
K a

© 2a ©
K 2K

Y

Which of the following statements is correct
for the spontaneous absorption of a gas ?

(A AS is negative and therefore, AH
should be highly positive.

(8)  AS is negative and therefore, AH
should be highly negative.

(© AS s positive and therefore, AH should
be negative.

(D) ASis positive and therefore, AH should
be positive.

In figure, ‘B’ is earthed and ‘A’ is kept at
1500 volt. What is potential at ‘P’ ?
SuF SuF

A P k=
.._._{ B
ssuF Lyp—f
> 2 uF

{A) 750 volt (8) 7500 volt
(9 7000 volt (D) 700 volt

T

o fel) s

Asp W fort e
av uf, r o= K'/\]r R4 wafdia & |

afy A w1 ourfves armer oy /o
A & ar afifsar @ arffae

®lel A1 -

(ay A ® K
K

(€ 2a ) oNe.
K 2K

o ¥ Q4 B ow dwa fFH A
& W Jqumer B yefia Har & 2

(A AS FOTHS & T AH s
gATsTs B |

(B) AS HUTHG & Ia: AH IS
HOMTHS BT |

@ AS UTIH® € AT AH HOTHS
BN |

) AS €16 & AT Ay TS
B |

o e A B R el ST @
TAT A DI 1500 e TR @ T L |
fg P ® fawg amn

SuF SuF

(A) 750 Qe
© 7000 qvee



31. Calculate the energy in joule corresponding

to light of wavelength 45 nm : (Planck’s
constant h = 6.63 X 10734 Js; speed of

light ¢ =3 x10%ms™1)
(A) 442x107'% (B {67 x 1015

(© 667 x 10! (D) 442 x10°15

. At 10 °C the value of density of a fixed

mass of an ideal gas divided by its pressure
is x.At 110 °Cthisratiois

(A) 383 (8) 283
==X PO 17, &
283 383

(© 10 (0) x
—— A‘

110

. A p-n photodiode is made of a material with
a band gap of 2.0 eV. The minimum
frequency of the radiation that can be
absorbed by the material is nearly

(A) 1 x 10*Hz (8 20 x 10 Hz

(e}

10 X 10**Hz () 5 x 10 Hz

. A silver cup is plated with silver by passing
965 coulomb of electricity. The amount of
Ag deposited is

31

32.

33.

wrer Rt e 45 nm 8, B S
JoI ¥ @ (wie  fFoadise
h=6.63 x 1073 gma.
ummm&nc=3>(108!ﬁ./ﬁ.)

(A)  442x107'® (B 667 x 10'°

©  667x10" () 442 x1071°

10°C W &N amedt 1 & e FAlRga
SHHE & U aT Q19 BT ST

X
g1  110°C WR I JqU B
(A) 383 (8) 283
— X — X
283 383
() 10 (D) x
—.X
110
TH p - n BRSARE 2.0 eV 478

FRIAT & g A g9 T | 3 uered
g1 AR fafevor & <aw smghy
T Bl

W 1 x 101 T

B 20 x 104 &S

© 10 x 104 &S

®) 5 x 1014 T

Th ek o9 W Ricay @) & Ra
oM & ford 965 Ha o fag@ warfRa
B ol | Ard @ fha " o

(A) 1.08 g (8) 9.89¢ Bt 2

(c) 107.89¢g (D) 1.0002 g (A) 1.08 WH (B) 9.89 WM
(© 107.89 TH (D) 1.0002 WH
Page: 9
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37.

The energy required to charge a parallel
plate condenser of plate separation d and
plate area of cross-section ‘A’ such that the
uniform electric field between the plate is E,
is

(A) 1 2 ) 1 3
Ad
() €o E:Ad (©) €0E2
Ad

Acidity of phenol is due to
(A) hydrogen bonding (8) phenolic group
(Q) benzene ring

(D) resonance stabilization of its anion

Two simple harmonic motions of angular
frequency 100 and 1000 rad/sec have the
same displacement amplitude. The ratio of
their maximum acceleration is

(A 1: 10* (B) 1: 102
© 1: 10 @ 1: 103
Of the following outer electronic

configurations of atoms, the highest
oxidation state is achieved by which one of
them ?

{A) (n- 1)d® ns?

O (n- 1)d® ns?

) (n- 1)d° ns?

©) (n- 1)d3 ns?

35

36.

37.

38.

N g8 d R Wt B R RWBT
AFFd A & | T IMARE R W &
fra &1 orax fga &F E 4 8 | 3
AR & & o smawas ol Brf -
(A :;EOE? . —21—60 EZ Ad
TAd

© €, E*Ad (© g E?

Ad

(8) fhefel T & BRI
© == BT & BRO

@) TS AT & AgAE Ry &
BRI

] RS AGd AT ST 100 IR 1000
WaaR, ot oofa il @ it §
T fAReoe I @R € | SHe
AHTH @O BT IATT BRI

(A 1:10% (8) 1: 107

© 1:10 ® 1: 103

= 3§ 9 o 9 9l saate AN
dTel TRAIY] §RT STaH aRITHRUT =T
U @I SRR 2

(A)  (n- 1)d8 ns?

()  (n- 1)dS,ns?
©  (n- 1)d5 ns?
®  (n- 1)d3 ns?

Page: 10
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3. The wave described by y =

41.

0.25 sin

(10 mx — 2 mt), where x and y are in

metre and t in second, is a wave travelling
along the
(A) +ve x direction with frequency 1 Hz and

wavelength A=0.2m

(8) -ve x direction with amplitude 0.25 m

and wavelength A=0.2m

(€) +ve x direction with frequency T Hz

and wavelength A=0.2m

(D) -ve x direction with frequency 1 Hz

. Complete the following reaction :

P, +NaOH +H,0 —> ?
(A} PH; + Na,HPO,
(8) PH; + NaH,PO,

(© H,PO, + NaO (@) PH; + Na,PO,

A particle of mass 1 mg has the same
wavelength as an electron moving with a
velocity of 3 X 10® ms~ 1. The velocity of

the particle is
(Mass of electron= 9.1 x 103! kg)

(A) 27 x 107*®ms™?
B 9 x 10 2ms™?
© 3 x 10 3'ms™?

P 27 x 107?'ms™?

39.

40.

41.

@ B WA & -y = 025 sin
(10 Tx — 2 mt), T4 x Ty WX H

T oW t 9§ & | g 9 A W
W@ E
() gD o faem ¥, amgfy 1 gCo 9T

e ) = 0.2 M.

(®) FoTHH o faun ¥, M 0.25 AL
T et ) = o2 #.

(O gD 5 faen ¥, amgRy o g A
TR ) = 0.2 1.

(0) FoTcH® x faem # qen AgRY 1 g

o= aiffear gt @il
P, +NaOH +H,0 —> ?

(A PH; + Na,HPO,

(8)  PH; + NaH,PO,

(©  H3PO, + NaO

() PH; + Na,PO,

1 mg ST & T $U B TR B
a3 X 104, ¥ 9T @ Q@

A T Toldge & §NER © | B Bl
3T BRI

EAFRd ®  TIEAE =

9.1 x 1073 kg)

(A 27 x 107854
() 9 x 107%®/A
© 3 x1073#A

) 27 x 107184

Page: 11
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42. Curie temperatures

above which

is the temperature

uaql-ﬁqu'gﬁl'qm%.mm

a9 I
(A} Ferromagnetic material becomes| (a) degeda gard, e gef
diamagnetic material g o & |
(B)  Ferromagnetic material becomes (8) @‘[‘grqu‘cﬁ'a gqTy, Nﬁ"{@'&ﬂ'& qaTef
paramagnetic material g9 o & |
(€ Paramagnetic  material becomes (c) aﬁfyﬂ?ﬁ'ﬂ gard, ﬂ?ﬂ‘?ﬁtﬁ'& Teref
ferromagnetic material gq T & |
(D)  Paramagnetic  material becomes (D) ﬁ-@@?}ﬁ'&' ugTy, uﬁ@aﬁu a1 g+
diamagnetic material ST
43 The reaction “ gfifRT CH,CN + 4H Na/C;HsOH
CH;CN + 4H Na/Cotl 0 :
i CHCH,NH, P&l §
e e () TG SimTgs Iffhar
(A) Hoffmann’s bromamide reaction 8) e AFFHAT
(B) Mendius reaction © gfeT ffmar
() Parkin’s reaction (D) Sabatier reaction (©) Qe ST
#4. Two thin lenses of focal length ’f,” and ’f,” |44 SR T BB RIAT & A
are in contact and co-axial. The power of the Udal o< T ®Y A SIS WElsg
combination is T B Al (IER) BRI
@ = ® f + £ (A) : ® £+ 5
= 2 = 2
JE f;
© (ff+ §) (D) £, © H+15) (D) £
e 1 T Ky
i 2 = ﬁ
4s. Which of the following is a measurement of |45. o & ¥ @9 o1 < UQEUT &I A9l
water pollution ? 22
() BOD (8) PSC (A BOD () pSC
(© COD (D) PCB © cob (® pCB
Page: 12
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46

47

49,

. The pH of 107'° M NaOH solution is
nearest to
(A) 4 (B) 7
(€ —4 (©) —10

The root mean square velocity of a gas is
doubled when the absolute temperature is
(A) increased four times

(8) increased two times
(C) reduced to half

(D) reduced to one fourth

The half life period of a first order process is
1.6 min. It will be 90% complete in
(A) 10.6 min (B) 43.3 min

(€) 5.3 min (D) 99.7 min

A nucleus r:x emits one o — particle and

two [~ particles. The resulting nucleus is

after emission

(A) m—6X (8) m—6X
n—4 n

(@] m—4X (D) m—4x
n n—2

A mass of diatomic gas (y =1.4) at a

pressure 2 atm is compressed adiabatically
so that its temperature rise from 27 °C to

46.

47,

48.

49,

50.

1071y NaOH fde@a &1 pHAHA

ST BT
(A 4 |8 7
(C), 5y mmill ® —-10

fot &1 @& @t ya =wem 47 (rms)
T B, 919 R &1 9| argErE

(A) IR AT deT |

(8) ) AT 47 |

(©) 3mr fhar S |

(©) T s BT |

wIH dife & Affhar &1 g ShaeTaTa

1.6 e T | foaw 9 § I8 90% YOI
BT 2

(A) 10.6 e (8) 43.3 fiqe

(© 53 fiFe (0) 99.7 fiFe
Th TS ’;‘Xw o — o T oY
B ou SN FRAT T | SO &

g NS B

(A) m—6X (B) m—6X

n—4 n

(o] m—4X (D) m—4X

n n—2
ferae N (y=14) & &

SHAM B B U9 ¥ 2 atm &
%919 9 9Hiifea frar wianr @, 99 TH@T

927 °C. The pressure of the gas in final state| 9 §®X 27°Cc A 927°C & Sl
(A) 8 atm (8) 68.7 atm 2 | Rafy & ¥ &1 T @
() 256 atm (D) 28 atm (A) 8 atm (®) 68.7 atm
(© 256 atm (0) 28 atm
Page: 13 534482
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SECTION - II avs - II
BIOLOGY Siq_fasi=
s1. In angiosperms, microsporogenesis and |51 JgadiS  grEUl ¥ gfeeET 3R
megasporogenesis U ISIMEEE
{A) Occurinovule (8) Involve meiosis (A) feoe § BT T

() Form gametes without further division

(D) Occur in anther

(8) IeRE oM g1 g € |
© fa=r s QoA & TS 97d © |

(©) WRETHY H B T |
s2. Filiform apparatus is a characteristic feature | 52 fPAe SUsRoT U 999 IfyeTeor ®
of (A) FHAST BT
(A) Zygote (8) Synergid (B) HETIH PIBET BT
(C) Egg (D) Suspensor (© aue @T (D) f{a®d &I

Transpiration and root pressure cause water
to rise in plants by

(A) pulling and pushing it respectively

(B) pushing and pulling it respectively

(©) pulling it upward (D) pushing it upward

. The process of RNA interference has been

used in the development of plant resistant
to
(A) Insects (B) Fungi

(©) Nematodes (D) Viruses

Fruit and leaf drop at early stages can be
prevented by the application of

53.

55.

qrEcES ok elaE, Ued ¥ S Bl
Y T B ?

(A) T FHET G AR TIPT B

(B) S HHI Pl PR AR Hadx

€ 3 FR DI AR P

(0) T HWR Pl AR GRHI PR

frafafag § @ e o wfoRel ureul
¥ fda9 87 RNA ST a1 ufshar
BT 9ART fohar < &1 ® 2

(A) P (B) &

© freew (0) faro]

Bl AR TR F T @@ ST Al
fPad ST gRT AW ST AHAl ® 2

(A) Auxins (B) Ethylene (A) Iiifeas (8) TRYAT
(C) Gibberellicacid (D) Cytokinins © Rerfore s (D) GrgedsH=
Page: 14 53448"
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Which one of the following may require
pollinators, but is genetically similar to
autogamy ?

(A) Geitonogamy (8) Xenogamy

(C€) Cleistogamy (D) Apogamy

s7. Which one of the following is correctly !
matched ?
{A) Onion - Bulb (8) Ginger - Sucker

(©) Chlamydomonas - Conidia

(D) Yeast - Zoospores

Which one of the following is not a bio-
fertilizer ?

{A) Rhizobium (8) Agrobacterium

(©) Mycorrhiza (D) Nostoc

. A normal-visioned man whose father was
colourblind, married a woman whose father
was also colourblind. They have their first
child as a daughter. What are the chances
that this child would be colourblind ?

(A) 25% (8) 0%

() 100% (D) 50%

The function of leghaemoglobin in the root
nodules of legumes is
(A) Inhibition of nitrogenase activity

(B) Expression of ‘nif’ gene
(A Oxygen removal

(D) Nodule differentiation

- Removal of introns and joining of exons in a
defined order during transcription is called

58.

59.

60.

61.

freforReg & @ frad wRAUHBRY B
AMEHAT B Thdt B, W= Te
Igdfdmar & aHrE g & 2

(A) Yrofreqedt aRTIToT

(8) g+

(©) Jrg*ted wRror (D) YA

e & @ B gifera € 2
(A) TS - Aeh DG

() A - FAdom]

frafoRag & ¥ o9 e g9 SdRe B
g7

(A) Irghfaas (8) gHeFIRTH
(O HIHqA (D) AR

Th 9 gie g afe, e faar
quiy 9, Te Wi Eft ¥ fJaw aRar g,
s fUar ot quis 9 | 59 afq =)
Yo G & 9 ¥ b E 9 Bl
Tl 3 9@ & quig B9 1 fHa
TG 2

(A) 25% (B) 3= wfcrea

(©) 100% (D) 50%

TAel Ueul @l o ufdrsi H
R B B §

Igeied & RHE TH fRad w9 #
TN B AE Ud TR & e

(A) Looping (8) Inducing P PEd &
(©) Splicing (0) Slicing (A) efer B R
(©) WATgRIT (D) wATSRIAT
Page: 15 534482




62.

65.

Which of the following joints would allow no

movement ?
(A) Fibrous joint () Cartilaginous
(©) Synovial joint

(D) Ball and socket joint

Which one of the following helps in

absorption of phosphorus from soil by plants
?

(A) Glomus
(€) Rhizobium

(B) Frankia

(D) Anabaena

The chromosomes in which centromere is
situated close to one end are

(A) telocentric (B) acrocentric

() metacentric (D) sub-metacentric

To obtain virus-free healthy plants from a
diseased one by tissue culture technique,

which part/parts of the diseased plant will
be taken ?

(A) Palisade parenchyma
(8) Both apical and axillary meristems
(©) Apical meristem only

(D) Epidermis only

Commonly used vectors for human genome
sequencing are

(A) T-DNA (8) BAC and YAC
(€) Expression Vectors

(D) T/A Cloning Vectors

62.

65.

66.

fefoReg § ¥ 29 @ afy & vor

D T B AR TE S 2

(A) Wer g (8) IuTRera af¥y

© arEIfge afy

) HgH-Gfeard! AT @l AR JAldbe
Sirs)

9 4 ¥ P dEl ERT 99T ¥ BReRY

$ JGAN F FEhal Hal ® 2
(A) T (8) i

© IrgoNfE (D) Q7T

-4 o, B e Rg e RR %
THIY BT & S= o1 Pel ol & ?
A) Bt (B) 3nTdhl

(€ Tegd= (D) IU-HeadH—<

Fde JaET THe gRT M Uey |
fqurpgeq e el B ww e &
ford M urew & 5w WA @ foram
SR 2

A) TS Reprgar

®) Y 3R ey Rysaas S &

© Faa M Rysags

©) Fae AR

A M IHET $ o amdR W

Tgd daex &
(A) T-DNA

®) g AR qEod
€ Ifafem dgex
@) T/A TN daex

I
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67.

69.

70.

7.

The DNA molecule to which the gene of
interest is integrated for cloning is called
(A) Template (B) Carrier

(€) Vector (D) Transformer

An example of edible underground stem is
(A) Groundnut (B) Potato

(€) Carrot (D) Sweet potato

DNA fragments are

(A) Either positively or negatively charged
depending on their size.

(8) Neutral

(C) Negatively charged

(D) Positively charged

Arteries are best defined as the vessels

which

(A) break up into capillaries which reunite to
form a vein.

(8) carry blood away from the heart to
different organs.

(€) carry blood from one visceral organ to
another visceral organs.

(D) supply oxygenated blood to the different
organs.

In Hardy-Weinberg equation, the frequency
of heterozygous individual is represented by

(A) q2 (8) pq

(© 2pq

(D) p2

67.

68.

69.

70.

71.

99 QTAC I P & Hed §, forad
AT ¥ ford dfy gt S @I
THTRferd fham SITaT § 2

(A) wuer (B) grEg®

© Haes (D) HY<RED

T Arg 4T @ $T TS ISRV DI
q e 2

(A) Hareft (B) 7]
© ToR (D) gHRB<I

AT & TlE SY B © ?

(A) T I AHR & IIAR TAIHS AT
TS & dad § |

(8) Ig™IA

(© xuTHe ARG

(0) gqrHP AR

gafEr W afeeet & w4 H wakH
R A IRuiT @t ST gt 8, S

W PR § fwfom & it @ @
e g1 RBRT &1 fmfor wRat @ |

B SRR P geg U A= i T o
St g |

© T ST S AR ST A D
SRR of STt © |

© ffy= 3 d& SifedoT gad BfeR
Jmgft A 2 |

Be-de gfieRer § fawmgesh afe

P graftiear &1 fwgor fFad gar € 2

(A) q2 (3)pq

(€ 2pq (D) p2

Page: 17
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72,

Widal test is carried out to test
(A) Diabetes mellitus (B) Malaria

(©) HIV/AIDS (D) Typhoid fever

2 fyafafeg § feum S ' fAse

qeror fHar war € 2
(A) TS AqTSeH

(8) HARar
(© gg.3mg.dl./7sq (0) eAwEs Sa)

73. The term ‘Polyadelphous’ is related to 3. qgRiEy ug faRry Iwafaa & 2
(A) Corolla (B) Gynoecium (A) TeTq (8) AT
(€©) Androecium (D) Calyx (©) g (D) qrErgeyst
74 When two unrelated individuals or lines are | 74. g < aRmfyd <4 argdqr SR &
crossed, the performance of F, hybrid is|  {&<oT HAT SGT &, @ F, 9% I
often superior to both its parents. This DT W e UETT 9l B & | g8
phenomenon is called uReear wedrdt &
(A) Transformation  (B) Heterosis (A) BRI (B) IHY 3Nl
(©) Splicing (D) Metamorphosis (© EATSRIT (D) HTIT<ROT
75. Which one of the following have the highest | 7s. yafy # frafoRea & @ feas! waiftes
number of species in nature ? Sfedr 9 o ®§ 2
(A) Fungi (B) Birds (A) HaH (8) u&i}
(©) Angiosperms (D) Insects () s{rqﬂ’aﬁrxﬁ (D) @I
76. Which one of the following statement is|7. f/g § ¥ 19 91 HUYF & & 2
correct ? (A) THISY &1 Bl YHh G¥c aidl & |
(A) In tomoto, fruit is capsule. B) afbsa & S F IR YOIy
() Seeds of orchids have oil-rich gy ST 2 |
endosperm. (€ [T & 9 T HUNRD WNE ¥
(©) Flower of tulip is a modified shoot. I
(D) Placentation in primrose is basal. O RS § sy e g
e 7
77. Which of the following are not membrane |77. fiF 7 & 9 &9 firesh ¥ 981 AR =&q 2
bound ? (A) TR
(A) Vacuoles () Mesosomes (8) WP (FiRI)
(©) Lysosomes (D) Ribosomes © ST (0) I
Page: 18
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78.

81.

82.

Which of the following viruses is not
transferred through semen of an infected
male?

(A) Hepatitis-B virus

(8) Human immunodeficiency virus

(¢) Chikungunya virus (D) Ebola virus

Flowers are zygomorphic in
(A) Tomato (8) Gulmohur

(c) Mustard (D) Datura

The cyanobacteria are also referred to as

(A) Golden algae (B) Blue-green algae

(€) Slime moulds (D) Protists

Which of the following is made up of dead
cells?
(A) Xylem parenchyma

(8) Collenchyma

(€) Phellem (D) Phloem

Forelimbs of cat, lizard used in walking,
forelimbs of whale used in swimming and
forelimbs of bats used in flying are an
example of

(A) Analogous organs (B) Adaptive radiation
(©) Homologous organs

(D) Convergent evolution

The process of separation and purification of
expressed protein before marketing is called
(A) Upstream processing

(8) Downstream processing
(C) Bio processing

(D) Post production processing

78

79.

80.

81.

82.

83.

frefafes & @ o W Rwpa @
R & fF grr w=fg =& € 2

(A) Bergfey B-amavw

8) g FASHREAN ara=w

© R aaa

(D) FQIAT qTIRA
T AN TERT 9 9 S §

(A) THreR ¥ (8) TeTHIER ¥

© uwar & () g H
AGAFEIRAT B HaT o &

() g darem B Aeftgd dare
(© gy Heew (D) wifewew

frafolfea & 4 o9 99 IR@ERI B
g1 BT § ?
(A) SR Jgad

© BT

(B) ¥e[eT DIUND
(D) UaTE

fdcelt iR fOUBcl & WUT T, [
$ UE KA IR THNES P WU
Ied @ ford B9 ¢, ¥ fhuUP SarERUr ©

?
() JHgRIE S (B) el fafdwor
(© FHSE ST (0) R fasrT

TR § AF I Ued, IfNeIdd U &

GG AR YEPRoT B ufhar d R
FE Sl § ?

(A) yfauare wshHvl
(B) Judare WshHUl
(© g FHH

(D) g¥g I WshATT

-—

|
|
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86.

87.

A human female with Turner’s syndrome
(A) has 45 chromosomes with XO.

(B) has one additional X-chromosome.

(€) is able to produce children with normal
husband.

(D) exhibits male character.

The eyes of potato tuber are
(A) Root buds (8) Shoot buds

(©) Flower buds (D) Axillary buds

Medical Termination of Pregnancy (MTP) is
considered safe upto how many weeks of
pregnancy ?
(A) Six weeks

(©) Eight weeks

(8) Twelve weeks

(D) Eighteen weeks

An organic substance that can withstand
environmental extremes and cannot be
degraded by an enzyme is

(A) Cuticle (B) Cellulose

(€) Sporopollenin (D) Lignin

Flowers, which have single ovule in the
ovary and are packed into inflorescence are
usually pollinated by
(A) Bat

(C) Bee

(8) Wind
(D) Water

Which one of the following pairs of gases
are the major cause of ‘Greenhouse effect’ ?

(A CO,and0; (8 CO,and CO

85.

86.

87.

88.

89.

e A S R Rigw @ T ®

(A) I 45 TOREF XO & A € |

(8) I U IWE X-PREF T |

(© v wErg 9fy & WT d= Y& X
eI

(0) g8 R & ofeur e & |

A & H A ST B ®
A 7T FfrE (B WRIE BleraTy
© qu BfAe  (0) HERT Blrd

g & fhae 9w de fafecag
TfaRer FHGT (MTP) @1 R AT
ST ® ?

(A) Bg e I
(O e Id«E I

(D) 3ICORE e dh

frafoRag § 9 9 U dEfe UQd
& S qrarE}er $ g favw aRRefoar
P oA Fpar © T B W geargH
ERT Iggfed wg! BT © 2

(A) wgfedhet (B) ycgeli<r
(O TR () ferft

(B) 9RE I« d&

b & fFafalRea 3@ & 9 o9
TRI-TE THIT BT TH SR & ?

W co, ¥ o,
(© CO,andN,0 (0} CFCs and CO, ® co. T o
2
@ co, ™ N,0
©  crc ® (o,
Page: 20 534
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B

91,

S

. If two persons with ‘AB’ blood group marry
and have sufficiently large number of
children, these children could be classified
as ‘A’ blood group in 1: 2 : 1 ratio. Modern
technique of protein electrophoresis reveals
presence of both ‘A and ‘B’ type proteins in
‘AB’ blood group individuals. This is an
example of
(A) Codominance

(8) Incomplete dominance
(€) Partial dominance

(0) Complete dominance

Double fertilization is exhibited by
(A) Gymnosperms

(©) Algae

(B) Angiosperm

(D) Fungi

Root pressure develops due to
(A) Active absorption

(B) Low osmotic potential in soil
(€) Passive absorption

(D) Increase in transpiration

93. Blood pressure in the mammalian aorta is

maximum during
(A) diastole of the right atrium

(8) systole of the left atrium
(©) diastole of the right ventricle

(D) systole of the left ventricle

90.

91.

92.

93.

I AR WX WE g Q& wf

fafRs 8 € R v waia fawd
W@ § qw g € 3 4w @ W
gfitea fear o weHar € | A BRR I,
B SRR TE H1:2:1F I A |
N SARBRRN & AEfAF dHND
A aaea & A IR B IGR S
W A & AR SRR wE afedl #
femE € | I8 SR § US

(A) FEYHIAAT &1

(8) Jrqul wIfaeT

(€ if¥re wwrfaar &1

() gui yifaar &1

fefea fowe gmr weRa fear Sirar
2?2

(A) IrTgadISh (B)  3giefTsit

© dara (D) HaH

e feaat goe 9 fafha 8 g 2
(W) |iHT AT & HROT

(®) a1 § e wreRoh fdwa & SR
(© fAfpa ey & SR

(0) IS H 931 & BRI
TERAT @ #erEE § SRR S few
gfafsar & <RE G99 IfRE Bar § 2
) TR Afeig & ARG & SRM

B ¥ 3ffeic & UHTT & SRH

© I g & ARET & aRME

@ ¥ e & UHad & aRH

%. In ginger vegetative propagation occurs|%. JERd ¥ BIAS Yo fSad gRT BNl
through g2
(A) Bulbills (B) Rhizome (A) gauHfcrdl ERT (B) Y=< BRI
() Offsets (D) Runners (© T gRT (0) IIRYE gRI
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95. Which part of the human ear plays no role in

97.

98.

hearing as such but is otherwise very much
required ?

(A) Eustachian tube (B) Organ of corti
(C) Vestibular apparatus

(D) Ear ossicles

The incorrect statement with regard to

haemophilia is

(A) A single protein involved in the clotting of
blood is affected.

(B) It is a recessive disease.
(C) Itis a sex-linked disease.

(D) It is a dominant disease.

Which is the most common mechanism of
genetic variation in the population of a
sexually reproducing organism ?

(A) Transduction

(8) Chromosomal aberrations

(C) Genetic drift (D) Recombination

Which one of the following is not applicable
toRNA?
(A) Heterocyclic nitrogenous bases

(8) 5' phosphoryl and 3' hydroxyl ends
(€) Chargaff's rule
(D) Complementary base pairing

The label of a herbarium sheet does not
carry information on

96.

97.

eHfbforar & O<d H I\ / Tad

I ®
(A IR & aFH g9 H TS T
9IEH gHTfad BRit 7 |

(B) Ig TS IJIyHTd AT 7 |

(€ gg T foii1 A& T 8 |

(0) Jg TH Yl T 7 |

dfffe yoWE el Slig @ SEaen ¥
IR faff=ar &1 999 A= UshH
ffafea # ¥ o9 @1 © 2

(A) gRHH (B) TURE faueH
@ gdle fage™

(0) gt

ffoRed § § @9 A1 RNA W 1Y

&l BIar ?
(A) {ue 9@ AIgged 99

(B) 5" BRBINA AR 3' eSfFad RR
© grRTe &1 g9
(0) RS 99 LT

qIeuierd U3 & AM9d § fAeEfolRea 4 A
P W gar sifea g et 2

(A) Local names (8) Height of plant (A) W 9 (B) Ui #t HATS
(€) Name of collector (D) Date of collection (€ Hugdhat &1 AH

(O HIg It ag
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.0 Transformation was discovered by
(A) Meselson and Stahl

(8) Hershey and Chase
(0 Griffith (D) Watson and Crick

TR B R 2
W R e e

® &% IR 49
© fiftey
(©) greE 3R e

HIEmm
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